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These questions are for use by Missouri State High School Activities Association members for conference competitions and independent tournaments. The Scholastic Bowl Company of Virginia, using tossups from Virginia High School League competition, writes them. 

There are 36 matches for this use. Each entity (conference or tournament) will be assigned matches for their competition. 

Users of these questions are allowed to distribute the rounds they have been assigned to the competing teams. Sharing these questions with teams not in that competition is not allowed but general discussion of the questions is permitted, as long as answers are not being shared. 
First period: 15 tossups
TOSSUP 1
MISCELLANEOUS

It is a trademark of the Dow Chemical Company, was developed in the early 1940s, and was originally used by the Coast Guard to make life rafts.  It has low thermal conductivity, and so is used in insulation panels, architectural models, packing peanuts, and insulated cups. Name this material, a type of polystyrene.

ANSWER: Styrofoam
TOSSUP 2
SOCIAL STUDIES

This four-word quote was first said in 1956, and was preceded by, ‘Whether you like it or not, history is on our side.’ It was not said while banging a shoe on the table and was probably a nod to the Marxist saying, ‘The proletariat is the undertaker of capitalism.’ What is this most famous quote of Nikita Khrushchev? 

ANSWER: “We will bury you”

TOSSUP 3
LITERATURE

She is the subject of attention for Gremio, Lucentio, and Hortensio. However, her father says she isn’t getting married until her older sister gets married. This difficulty was solved by Petruchio’s arrival. This sweet-tempered girl is the daughter of Baptista Minola. Who is the younger sister of Katherine, the ‘shrew’ in The Taming of the Shrew? 
ANSWER: Bianca Minola

TOSSUP 4
SOCIAL STUDIES

After World War II, this nation took in refugees from parts of Karelia it lost in the war. Its defenses in the Continuation War and Winter War against the Soviet Union were directed by Carl Mannerheim. Retreating German troops fought the Lapland War against what nation, whose capital is Helsinki? 

ANSWER: Finland
TOSSUP 5
MATH

THIS IS A COMPUTATION QUESTION. How many total bases is 15 home runs, 5 triples, 18 doubles, and 71 singles, given that 15 times 4 is 60, 5 times 3 is 15, 18 times 2 is 36, and 71 times 1 is 71?

ANSWER: 182 bases

TOSSUP 6
SCIENCE

Like Uranus, its discovery has been attributed to William Herschel.  It has wavelengths between 750 nanometers and one millimeter, and is used in remote controls, night vision, thermography, and in heating objects.  Name this type of electromagnetic radiation that in terms of frequency is between microwaves and red light.

ANSWER: infrared
TOSSUP 7
LITERATURE

A stranger appears in the English village of Iping, wearing a long coat, gloves, and bandages around his face. The village is hit with a series of burglaries. After Dr. Kemp comes to Iping, the stranger’s secret is revealed, and the stranger dies as he tries to kill Kemp. In what H.G. Wells novel does Jack Griffin discover how to be unseen? 

ANSWER: The Invisible Man (must have “the,” do not accept or prompt without it)
TOSSUP 8
SOCIAL STUDIES

A state park for this mountain is surrounded by the Pisgah National Forest. The Blue Ridge Parkway runs only 1,000 feet from its summit, making climbing it relatively easy. Until 1845, it was the highest point in the United States; it is still the highest point east of the Mississippi. What is this mountain in North Carolina? 

ANSWER: Mount Mitchell
TOSSUP 9
LITERATURE

Her husband was Lapidoth. A poet, she sat under a palm tree located between Ramah and Bethel when her judgment was needed. However, the Canaanite general Sisera troubled Israel. She prophesied that Jael would kill Sisera, but Sisera’s army was defeated by her general, Barak. Who was the only female judge of the Israelites?

ANSWER: Deborah
TOSSUP 10
SCIENCE

It was discovered by its namesake French scientist in 1787 and quantified in 1808 by another French scientist named Joseph Gay-Lussac.  Unlike Boyle’s law, it keeps pressure constant.  Name this law that states that the volume of a gas is directly proportional to its temperature in Kelvin.

ANSWER: Charles’ law

TOSSUP 11
FINE ARTS

Walter Kerr called this 1959 musical a ‘great step backwards,’ but it won the 1960 Tony for Best Musical. It was then adapted for film in 1965, and won the Best Picture Oscar. The book The Story of the Trapp Family Singers is the bassis for What musical that includes the songs “Edelweiss” (ay-del-VEYES) and “Do-Re-Mi”? 

ANSWER: The Sound of Music
TOSSUP 12
LANGUAGE ARTS

What three letters, a Latin abbreviation for “which was to be demonstrated,” are placed at the end of mathematical proofs?


ANSWER: Q.E.D.
TOSSUP 13
SCIENCE

This element makes up, by mass, about one-quarter of the earth’s crust. Like carbon, it has a half-filled outer shell and is thus a semiconductor. What metalloid has an average atomic mass of 28.09 and a symbol of Si? 

ANSWER: silicon
TOSSUP 14
MATH

THIS IS A COMPUTATION QUESTION. What is the value of 3 to the negative fifth power, given that this is the reciprocal of 3 to the fifth, which is 243?

ANSWER: 1/243
TOSSUP 15
MATH

THIS IS A COMPUTATION QUESTION. What is the determinant of the matrix with top row of 3 and -5 and bottom row of 6 and 15?

ANSWER: 75
Second period: 10 toss-ups with 4-part bonuses
TOSSUP 16
MATH

THIS IS A COMPUTATION QUESTION. The positive square root of 2000 is between what two integers, given that 1936 and 2025 are perfect squares?

ANSWER: 44 and 45
BONUS 16
LITERATURE

Name these American short-story authors from works.
A.
Winesburg, Ohio


ANSWER: Sherwood Anderson
B.
“A Good Man Is Hard To Find”
ANSWER: Flannery O’Connor
C.
“The Outcasts of Poker Flat”

ANSWER: Bret Harte
D.
“The Bride Comes To Yellow Sky”
ANSWER: Stephen Crane
TOSSUP 17
MATH

It is the size of one byte, and it takes 3 clock cycles. Common uses include: forcing memory alignment, preventing hazards, occupying a branch delay slot, or most importantly, timing purposes. Name this command that in assembly language that does nothing besides waste CPU clock cycles.

ANSWER: NOP (No-OP) or No Operation 

BONUS 17
FINE ARTS

Name these early horror films from clues.

A.
Elsa Lanchester plays both Mary Shelley and the wavy-haired title character in this 1935 sequel starring Boris Karloff.

ANSWER: Bride of Frankenstein
B.
This film bears little resemblance to the Poe short story, but it does feature Bela Lugosi skinning Karloff alive.

ANSWER: The Black Cat
C.
Lugosi's career had been ignited in 1931 playing this title character who says, "Children of the night... What music they make."

ANSWER: Dracula
D.
Peter Lorre plays a child-murdering pedophile in this 1931 Fritz Lang film with a short title.

ANSWER: M
TOSSUP 18
SCIENCE

At about 0.002426 nanometers, it is equal to Planck’s constant divided by electron mass and the speed of light.  Name this wavelength used in an eponymous equation for x-ray scattering by electrons that is named for the 1927 winner of the Nobel Prize for Physics.

ANSWER: Compton wavelength

BONUS 18
MATH

THIS IS A COMPUTATION QUESTION. Convert the following numbers into Roman numerals.

A.
783

Answer:
DCCLXXXIII
B.
432

Answer:
CDXXXII
C.
1269

Answer:
MCCLXIX
D.
1417

Answer:
MCDXVII
TOSSUP 19
SCIENCE

Bees and termites appeared during this geologic period, and the angiosperms spread during it.  It lasted from 145 million years ago to 65 million years ago.  Its name comes from the Latin for chalk and it was concluded by a mass extinction. Name this final period of the Mesozoic era.

ANSWER: Cretaceous
BONUS 19
MISCELLANEOUS

Answer the following about a court room shooting from March 11th 2005.

A.
This man escape from the courthouse by taking the sheriff deputy’s firearm after he was un-cuffed to change into civilian clothes.


ANSWER: Brian Nichols

B. 
The shooting happened in this American City.


ANSWER: Atlanta, Georgia

C. 
Brian kidnapped this female, the author of Unlikely Angel, which she wrote about her ordeal.


ANSWER: Ashley Smith
D. 
While being held in her own apartment Ashley read the bible and this book by Rick Warren to Brian.


ANSWER: The Purpose Driven Life 

TOSSUP 20
MISCELLANEOUS

During his four-month term as Prime Minister, he handled the invasion of Dagestan by neighboring Chechnya, and while President, he has seen the prosecution of the head of the Yukos oil company.  Who is this man, the current President of Russia?

ANSWER: Vladimir Putin
BONUS 20
LITERATURE

Answer the following questions about titular characters in world literature.

A.
Give the actual name of the Hunchback of Notre Dame.

ANSWER: Quasimodo

B.
Give the actual name of the Mayor of Casterbridge

ANSWER: Michael Henchard

C.
The first name of the title character in “Madame Bovary.”

ANSWSER: Emma

D.
The first name of the title character in “Doctor Zhivago.”

ANSWER: Yuri

TOSSUP 21
LITERATURE

In this novel, the ‘guidebooks’ are not specifically named, but are probably the Bible and Pilgrim’s Progress. The protagonist marries Profess Friedrich Bhaer (bair), and becomes closer to her sisters Amy, Meg, and Beth as she gets older. Josephine, or ‘Jo,’ March is the protagonist of what Louisa May Alcott novel, whose sequel is Little Men? 

ANSWER: Little Women

BONUS 21
SOCIAL STUDIES

Name these medieval dynasties.
A.
James VI of Scotland became James I of England and was the founder of what dynasty?

ANSWER: Stuart
B.
Charlemagne did away with what original dynasty of Frankish rulers?


ANSWER: Merovingian(s)
C.
What junior branch of the Capetian dynasty ruled France between 1328 and 1589? 

ANSWER: Valois
D.
What dynasty, named for the part of England it originally ruled, included Alfred the Great and was only overthrown at the Norman Conquest? 


ANSWER: Wessex
TOSSUP 22
SOCIAL STUDIES

This leader of the ‘British Band’ returned to his home village of Saukenok, sparking a war with the U.S. His power was permanently broken at the Battle of Bad Axe, forcing him to leave Illinois forever. What chief of the Sauk and Fox tribes was the namesake for a war fought in 1832? 

ANSWER: Black Hawk or Ma-ka-tai-me-she-ki-a-ki-ak
BONUS 22
MATH

THIS IS A COMPUTATION QUESTION. What are the determinants of the following matrices, whose elements are read – top left, top right, bottom left, bottom right?

A.
7, 3, 8, 21

Answer:
123
B.
-3, 4, 9, 14

Answer:
-78
C.
4, -7, 9, 18

Answer:
135
D.
5, -9, -14, 3

Answer:
-111
TOSSUP 23
SOCIAL STUDIES

He had a confirmed affair with Carrie Fulton Phillips and an alleged affair with Nan Britton. The first sitting Senator to be elected President, he defeated James Cox with a promise to ‘return to normalcy.’ However, Teapot Dome and other scandals tarnished the presidency of what man who died in 1923 and was replaced by Calvin Coolidge? 

ANSWER: Warren G. Harding
BONUS 23
SCIENCE

Its chemical formula is C6H6.

A. 
Name this cyclic organic molecule.

ANSWER: benzene [accept 1,3,5-cyclohexatriene]

B. 
Benzene is an example of this type of especially stable molecule with electrons that can move around in a ring.

ANSWER: aromatic molecule

C. 
What is the hybridization of each carbon atom in the benzene ring?

ANSWER: sp2 [s-p-2]

D. 
This derivative of benzene is formed by replacing one of its hydrogen atoms with a CH3 group.

ANSWER: toluene [accept methylbenzene]

TOSSUP 24
LANGUAGE ARTS

Most grammarians believe there are seven coordinating conjunctions, which form the acronym “FANBOYS.” What are the seven coordinating conjunctions?

ANSWER: for, and, nor, but, or, yet, so (accept in any order)

BONUS 24
SOCIAL STUDIES

Given a description of a suburb of Kansas City name that city.

A. 
This northern suburb along interstate 35 is home to William Jewell College.


ANSWER: Liberty
B. 
This city is the largest suburb on the Missouri side.


ANSWER: Independence
C. 
This suburb is split between Jackson and Cass County and was voted the 44th best city to live in United States.


ANSWER: Lee’s Summit
D. 
This city located in Platte County and is located on the Missouri River, and is known for its antique shops and historic downtown.


ANSWER: Parkville

TOSSUP 25
LITERATURE

The reader is exhorted, ‘oh, hear!’ at the end of this poem’s first three cantos. The fifth and final canto ends with the question, ‘If winter comes, can Spring be far behind?’ In the first line, the title object is addressed as ‘thou breath of Autumn’s being.’ What poem by Percy Bysshe Shelley is dedicated to a gently blowing zephyr? 

ANSWER: “Ode to the West Wind”

BONUS 25
SCIENCE

Answer these questions about thermodynamics.
A.
What quantity, represented by a capital S, is the energy in a system that isn’t doing work?

 
ANSWER: entropy
B.
What law states that the entropy in a system is always increasing?


ANSWER: second law of thermodynamics
C.
Something that is adiabatic means that what is not transferred?


ANSWER: heat energy

D.
What form of matter exists at temperatures below 1,000 nanokelvins, and is named for the two physicists that proposed its existence in the 1920s?


ANSWER: Bose-Einstein condensate
HALFTIME
Third period: 15 toss-ups
TOSSUP 26
SOCIAL STUDIES

In 1943, it was 30% of gross domestic product, and it didn’t exist between 1998 and 2001. In 2005, it was about 2.6% of gross domestic product, but there was concern that Social Security surpluses were being used to artificially reduce it. What figure is the amount the US government spends over and above how much it receives in taxes? 

ANSWER: U.S. budget deficit (accept clear-knowledge equivalents, prompt on ‘deficit,’ and don’t accept or prompt on ‘debt.’)

TOSSUP 27
LANGUAGE ARTS

It is the name of the Ockham that originated Ockham’s Razor. It had become popular after the Norman Conquest – in fact, 110 knights with this name feasted together in 1171 and didn’t let anyone with another name eat with them. Coming from Germanic words meaning ‘desire’ and ‘helmet,’ what name is shared by 3 kings of the Netherlands, 3 kings of England, 1 king of the United Kingdom, and 2 Emperors of Germany?

ANSWER: William
TOSSUP 28
MISCELLANEOUS

This man shot a bogey on the 17th hole at Southern Hills during the third round of the PGA Championship, which wouldn't be notable except for the fact that his partner recorded a par, which he failed to correct and was disqualified.  This came just a month after his misfortune at Carnoustie.  Who is this Spanish golfer, who lost in a playoff to Padraig Harrington at the 2007 British Open?

ANSWER: Sergio Garcia
TOSSUP 29
LITERATURE

She died of tuberculosis in 1849 at age 29, and left behind two novels. One is about the arrival of Mrs Helen Graham in Gilbert Markham’s life, and the other is about the daughter of a minister who becomes a governess. Acton Bell was the pen name of this author of Agnes Grey and The Tenant of Wildfell Hall. Who was this sister of Charlotte and Emily? 

ANSWER: Anne Bronte (prompt on ‘Bronte,’ and accept Acton Bell before it is said.)

TOSSUP 30
SOCIAL STUDIES

In 1987, this group entered the news when it refused entry for a Black woman, Lena Ferguson. It sponsors an essay content on American history for middle schoolers. Constitution Hall is owned by what group, that consists of women over age 18 who can prove at least one ancestor aided in securing American independence?  

ANSWER: Daughters of the American Revolution or DAR
TOSSUP 31
SCIENCE

The Lachman test is used to diagnose a tear of it.  Athletes who have injured it include Lindsey Harding, Brandon Rush, and Donovan McNabb.  It goes from the lateral condyle of the femur to the intercondyloid eminence of the tibia.  Name this body part that along with the PCL, MCL, and LCL, makes up the major ligaments of the knee.

ANSWER: ACL or anterior cruciate ligament
TOSSUP 32
FINE ARTS

His last movies were A Countess from Hong Kong and A King in New York. His film, Modern Times, is one of the last silent films. He ate a boot in The Gold Rush. He played Adenoid Hynkel, the Fascist leader of Tomainia, in The Great Dictator. What comedian is best-known for his character, the ‘Little Tramp’? 

ANSWER: Charlie Chaplin (NOTE: technically, Modern Times had sound effects, but no dialogue.) 

TOSSUP 33
MATH

Although appearing in Italian art from the 13th century, it was described in 1915 by its namesake, a Polish mathematician.  It can be produced by shading the odd numbers of Pascal’s triangle.  Name this fractal that is constructed by taking an equilateral triangle, shrinking it by half, making two copies, placing them so each triangle touches the others at a corner, and repeating to infinity.

ANSWER: Sierpinski (seer-pin-skee) gasket or triangle or sieve

TOSSUP 34
MATH

THIS IS A COMPUTATION QUESTION. What is the circumference of a circle with an area of 36 pi square feet?

ANSWER: 12 feet
TOSSUP 35
LITERATURE

Bertrand Russell described him as the “single most difficult philosopher to understand.” Indeed, his “left” or “young” followers advocated atheism, while his “right” followers advocated Protestantism. He conceived the master-slave dialectic; indeed he conceived a form of logic that he called “speculation” but is today called “dialectics.” Who wrote Elements of the Philosophy of Right and Phenomenology of Spirit?
ANSWER: Georg Wilhelm Friedrich Hegel (HAY-ghel) 

TOSSUP 36
MATH

THIS IS A COMPUTATION QUESTION. If x = 7 when y = 11 and maintains that ratio, what does y equal when x = 84?

ANSWER: y equals 132
TOSSUP 37
SCIENCE

There are about 1800 living species of this organism and it has a vascular water system with projections called tube feet.  Its cardiac stomach may be pushed out of its body to engulf and digest food.  Name this type of echinoderm (eh-KIN-oh-derm) of the class Asteroidea which usually has five arms, an example of which is Sponge Bob’s friend Patrick.

ANSWER: starfish
TOSSUP 38
SOCIAL STUDIES

This type of contract has a seal on it, placing it above and beyond ordinary contracts. In the US, they are typically included with ‘Conditions and Restrictions’ on a real estate deed. In the Jim Crow era, they were used to prevent non-Whites from moving into a house. What legal term also describes the promises God has made with humanity? 

ANSWER: covenant
TOSSUP 39
LITERATURE

In Part One, Joan of Arc is portrayed as a witch. In Part Two, the title character marries Margaret of Anjou and the War of the Roses begins. In Part Three, Richard of Gloucester kills the title character, who is a prisoner in the Tower of London. These are the three parts of what king’s life, as told by Shakespeare? 

ANSWER: Henry VI
TOSSUP 40
SCIENCE

Its scientific name is Ananas comosus and it is a perennial herbaceous plant native to South America.  Bat-pollinated ones open their flowers at night and close them at day to avoid weevils.  Cultivars of it include Red Spanish, Natal Queen, Smooth Cayenne, and Kona Sugarloaf.  Name this tropical fruit that often has large spines and is associated with Hawai’i.

ANSWER: pineapple(s)

Fourth period: 10 toss-ups with 4-part bonuses
TOSSUP 41
SCIENCE

Carlo Urbani identified it as something other than the flu. Canada experienced 43 deaths from it, but most deaths were in Asia. The women’s soccer and ice hockey world championships were moved out of China in response to it. What respiratory disease struck in 2003? 

ANSWER: severe acute respiratory syndrome or SARS
BONUS 41
LITERATURE

Name these Lewis Carroll characters.

A.
This character is first seen smoking a hookah.

ANSWER: Caterpillar

B.
“Why is a raven like a writing desk?” is a riddle with no answer posed by this character at the tea party.

ANSWER: The Mad Hatter

C.
At some times, only this character’s smile is visible.

ANSWER: Cheshire Cat

D.
This representation of a chess piece is involved in a race that involves Alice running but going nowhere.

ANSWER: Red Queen

TOSSUP 42
FINE ARTS

Only the Jewel Tower and the crypt of St. Stephen’s Chapel survived this building’s 1834 fire. Charles Barry designed a Gothic-styled replacement. The Victoria Tower and Clock Tower, also known as ‘Big Ben,’ are parts of what palace, the home of the United Kingdom’s Parliament? 

ANSWER: Westminster Palace

BONUS 42
LANGUAGE ARTS

Given a word, identify the language from which it originates.
A.
Trek.

ANSWER: Afrikaans
B.
Robot.

ANSWER: Czech
C.
Goulash.
ANSWER: Hungarian
D.
Guru.

ANSWER: Sanskrit
TOSSUP 43
LITERATURE

He defended segregation in the essay, ‘The Briar Patch,’ in the Southern Agrarian manifesto I’ll Take My Stand. He changed his mind, interviewing civil rights leaders in Who Speaks for the Negro. He wrote the textbook Understanding Poetry and the novel At Heaven’s Gate. Who created the character of Willie Stark in All the King’s Men? 

ANSWER: Robert Penn Warren
BONUS 43
MATH

THIS IS A COMPUTATION QUESTION. Solve the following trigonometry values.

A.
Cosine of 240 degrees.

Answer:
-.5 or -1/2
B.
Cotangent of 60 degrees.

Answer:
1 over square root of 3
C.
Sine of 540 degrees.


Answer:
0
D.
Tangent of 720 degrees.

Answer:
0
TOSSUP 44
SOCIAL STUDIES

Margaret of Anjou and Duke Richard emerged as leaders during these wars. They began with the First Battle of St. Albans and ended with the Battle of Bosworth Field. They were fought between 1455 and 1487 between the Houses of Lancaster and York. What series of wars were named for the houses’ emblems, a white and a red flower? 

ANSWER: War(s) of the Roses (Yes, I know there was the Battle of Stoke Field, but no one cares about that)

BONUS 44
MATH

THIS IS A COMPUTATION QUESTION. What are the means of the following?

A.
54, 86, 12, and 88.

Answer:
60
B.
32, 78, 21, 39, 44, and 26.
Answer:
40
C.
43, 77, 24, 86, 11, and 59.
Answer:
50
D.
47, 23, 14, 56, 13, and 27.
Answer:
30
TOSSUP 45
MISCELLANEOUS

The band that sang this song had rented a mobile recording studio from the Rolling Stones. A Frank Zappa and the Mothers of Invention concert was interrupted when someone fired a flare gun, burning the casino at Montreux (mawn-troo), Switzerland, to the ground. In June 2007, 1,683 guitarists gathered in Kansas City to play its riff simultaneously. “The fire in the sky” is found in what hit by Deep Purple?

ANSWER: “Smoke on the Water” 

BONUS 45
MISCELLANEOUS

Given the number, score, loser, and some facts about a Super Bowl, name the winner of the Super Bowl.
A.
III,  Baltimore Colts, 16 to 7, the winning quarterback guaranteed victory.

ANSWER: New York Jets (accept Jets by itself, prompt on ‘New York’)

B.
VII, Washington Redskins, 14 to 7, the winners closed an undefeated season.


ANSWER: Miami Dolphins (accept either)
C.
XX, New England Patriots, 46 to 10, Coach Ditka won his only Super Bowl.

ANSWER: Chicago Bears (accept either)

D.
XXIV, Denver Broncos, 55 to 10, the winners also won Super Bowl XXIII. 

ANSWER: San Francisco 49ers (accept either)

TOSSUP 46
SOCIAL STUDIES

In 1963, this city formed a consolidated government with surrounding Davidson County. Its planned Signature Tower will be one of the world’s twenty tallest buildings. A replica of the Parthenon and the Ryman Auditorium are in this city on the Cumberland River. What city, known as ‘Music City, U.S.A,’ is the capital of Tennessee? 

ANSWER: Nashville, Tennessee

BONUS 46
SOCIAL STUDIES

Answer these questions about the opening up of Japan during the 19th century. 
A.
In 1868, what emperor, whose birth name was Mutsuhito, was restored to power? 


ANSWER: Meiji
B.
What American commodore’s visit to Japan in 1852 put all these events into motion?

ANSWER: Matthew Perry
C.
What office that had previously held power in Japan was abolished with the Meiji Restoration? 


ANSWER: shogun
D.
What dynasty of shoguns came to an end with the Meiji Restoration?


ANSWER: Tokugawa
TOSSUP 47
MATH

THIS IS A COMPUTATION QUESTION. What two numbers repeated make up the decimal form of 3/11?

ANSWER: 27
BONUS 47
LITERATURE

Answer these questions about Islamic prayer.
A.
How many prayers are devout Muslims expected to give daily?


ANSWER: five
B.
What object in Mecca must be faced during prayer?


ANSWER: Kaaba
C.
Prayer is one of the five pillars of Islam. Name any two of the other four.

ANSWER: Shahadah or profession of faith; Sawm or Ramadan fast; Zakah (or Zakat) or almsgiving; Hajj or pilgrimage to Mecca (be generous in accepting alternates)
D.
Prayer should be said in a congregation, or a jama’ah. Ideally this should be when what leader of a mosque is present?

ANSWER: Imam
TOSSUP 48
LITERATURE

In Volume Eight of this series, the title character breaks up with long-term boyfriend Michael Moscovitz. Her mother, Helen Thermopolis, has a brief fling with Phillipe Renaldi who, in the first volume, turns out to be the Prince of Genovia. What series by Meg Cabot is about Mia, an ordinary teenage girl that becomes royalty? 

ANSWER: The Princess Diaries
BONUS 48
SCIENCE

Given a substance and an atom in that substance, give that atom's oxidation state. You must give the sign for each answer.

A. 
Oxygen, in water

ANSWER: 2- or minus 2 [do not prompt on unsigned answer for any part]

B. 
Carbon, in carbon dioxide

ANSWER: 4+ or plus 4
C. 
Aluminum, in alumina

ANSWER: 3+ or plus 3
D. 
Chromium, in potassium dichromate

ANSWER: 6+ or plus 6
TOSSUP 49
MATH

THIS IS A COMPUTATION QUESTION. What is the prime factorization of 330?

ANSWER: 2, 3, 5, 11
BONUS 49
SOCIAL STUDIES

Answer these questions about the development of the American West.
A.
Between April 1860 and October 1861, what service, that never made a profit and preferred orphans, delivered mail from St. Joseph to San Francisco? 


ANSWER: Pony Express
B.
In what state was the famous golden spike ceremony in 1869?


ANSWER: Utah
C.
The Cimarron Cutoff was a shortcut along what trail that helped develop the American Southwest? 

ANSWER: Santa Fe Trail
D.
What was the name Latter-Day Saints elders proposed for the state now known as Utah?

ANSWER: Deseret
TOSSUP 50
SCIENCE

A “thought camera” and an ion-propelled aircraft were among his proposed inventions. He helped Westinghouse win the “War of Currents” over Edison. In 1937, he wrote “The Art of Projecting Concentrated Non-dispersive Energy through the Natural Media,” a description of his “death ray.” In 1943, the Supreme Court said the inventor of the radio was what Croatian engineer? 

ANSWER: Nikola Tesla
BONUS 50
SCIENCE

Name these microorganisms:

A. 
The genetics of this bacterium, harmless species of which are found in the digestive tract, have been better studied than in any other organism.

ANSWER: E. coli or Escherichia coli
B. 
This general term describes protists that move using pseudopodia [SOO-doh-POH-dee-uh].

ANSWER: amoeba(s) [accept word forms]

C. 
These spherical bacteria, arranged in chains, cause a namesake infection of the throat.

ANSWER: Streptococcus pyogenes or S. pyogenes
D. 
This general term describes single-celled fungi that reproduce by budding.

ANSWER: yeast(s)

END OF MATCH

Spare questions
TOSSUP 51
LITERATURE

Fern Arable raises him as a pet until he is sold to Homer Zuckerman. His life is spared after he becomes famous and wins a prize at the county fair. His best friend dies, leaving only an egg sac behind. Charlotte the spider becomes friends with what porcine protagonist of Charlotte’s Web? 

ANSWER: Wilbur the pig

BONUS 51
SOCIAL STUDIES

Answer these questions about an educational law signed in January 2002. 
A.
What was this law that sought to improve under-performing school districts?


ANSWER: No Child Left Behind or NCLB
B.
Each state is allowed to create the standards for, and the punishments for  not meeting, what goal abbreviated as AYP?

ANSWER: Adequate Yearly Progress
C.
Part of No Child Left Behind was an Act that made schools grant access to what group, opposed by some for their exclusion of gays and atheists? 


ANSWER: Boy Scouts of America or BSA
D.
Funding for schools is given through what section of the Elementary and Secondary Education Act of 1965? 

ANSWER: Title I
TOSSUP 52
FINE ARTS

This symphony premiered on March 27, 1792, and is the second of the “London symphonies.” Its second movement’s theme was used in the oratorio – not written by Vivaldi – The Seasons, but said second movement is better known for a G chord in measure 16. What nickname is given to Franz Haydn’s 94th symphony due to said G chord’s being extremely loud? 


ANSWER: Surprise Symphony (accept Haydn’s 94th symphony before “Haydn” is said in the question)

BONUS 52
LANGUAGE ARTS

Take the Spanish verb, vivir, which means ‘to live.’ Given a mood, tense, person, and number – conjugate that verb. 
A.
Indicative, present, first person plural.


ANSWER: (nosotros) vivimos (vee-VEE-mohs)
B.
Subjunctive, imperfect, first person singular.


ANSWER: (yo) viviera (vee-vee-AY-rah)
C.
Indicative, preterite, third person singular.


ANSWER: (él/ella/usted) vivió (vee-vee-OH)
D.
Subjunctive, conditional, second person singular.


ANSWER: (tú) vivirías (vee-vee-REE-ahs)
TOSSUP 53
MATH

THIS IS A COMPUTATION QUESTION. What percent of an 18 foot by 30 foot floor is covered by a rug measuring 9 feet by 9 feet, given that the floor has an area of 540 square feet and the rug has an area of 81 square feet?

ANSWER: 15 percent

BONUS 53
SCIENCE

Identify these terms from genetics:

A. 
A cell that contains two complete sets of chromosomes

ANSWER: diploid [DY-ployd]

B. 
The physical manifestation of genes, such as black fur or red flowers

ANSWER: phenotype [FEE-noh-type]

C. 
The process by which the DNA sequence of a gene is converted to RNA

ANSWER: transcription [accept word forms]

D. 
Alleles, such as those for type A and type B blood, that are both expressed if both are present

ANSWER: codominant [accept word forms]

TOSSUP 54
SOCIAL STUDIES

Widin, their last leader, was defeated by the Byzantines in A.D. 561. They were originally called the Greuthingi (groo-thing-ee). They established a kingdom in modern-day Italy under Theodoric the Great. Their name can mean either ‘gleaming,’ or ‘from the east.’ What barbarian tribe must never be confused with the Visigoths? 

ANSWER: Ostrogoth(s)

BONUS 54
MISCELLANEOUS

The internal combustion engine one of the best things about industrial arts class. Given a small description of a part of the internal combustion engine name that part.

A. 
This is used to open the values for the intake and exhaust cycles of the engine.


ANSWER: Camshaft 

B. 
While the engine is running, this charges the battery.


ANSWER: Alternator

C. 
These ignite the fuel and air mixture.


ANSWER: Spark Plugs
 D. 
This translates the reciprocating linear motion of the pistons into rotation for the drive train.


ANSWER: Crankshaft
TOSSUP 55
SCIENCE

This hypothetical particle is said to be a massless boson that has no electric charge, a stable lifetime, and a spin of two.  String theory models them as closed strings in a very low-energy vibrational state.  Due to the extremely low cross section of their interaction with matter, it is virtually impossible to detect them.  Name this particle that is said to mediate the force of gravity.

ANSWER: graviton
BONUS 55
MATH

THIS IS A COMPUTATION QUESTION. What are the midpoints of the following?

A.
(5, 4, 19) and (45, 24, 3).

Answer:
(25, 14, 11)
B.
(-3, -15, 34) and (-15, 33, 22).
Answer:
(-9, 9, 28)
C.
(-6, -45, -12) and (-4, 23, -44).
Answer:
(-5, -11, -16)
D.
(6, 33, 19) and (10, 37, 39).

Answer:
(8, 35, 29)
TOSSUP 56
MISCELLANEOUS

The 1951 world premiere of his film Father’s Little Dividend became a fundraiser for the school for deaf children he set up and named for his son John. He died shortly after filming Guess Who’s Coming to Dinner?, where he played the role of father Matt Drayton. He never divorced his wife Louise, but who made nine movies including Woman of the Year with longtime partner Katharine Hepburn? 

ANSWER: Spencer Tracy 
BONUS 56
LITERATURE

Answer the following questions about an American author and his works.

A.
This Kentucky native was appointed America’s first poet laureate in 1986.

ANSWER: Robert Penn Warren
B.
In 1946, Warren penned this novel about a charismatic southern governor.

ANSWER: All The King’s Men

C.
This man was the governor and protagonist of All The King’s Men.

ANSWER: Willie Stark
D.
The character of Stark was inspired by this Louisiana politician of the 1930’s, nicknamed “The Kingfish.”

ANSWER: Huey P. Long

TOSSUP 57
LANGUAGE ARTS

There are three common meanings of this word. One is to get a justly-earned reward or punishment. Another is to leave something without intending to return, especially a spouse or the army. The ‘Great American’ one was an old name for the Great Plains. Antarctica is the largest of what arid region of the Earth, usually associated with cactuses and the Sahara?

ANSWER: desert (accept either pronounciation)

BONUS 57
FINE ARTS

Some composers are famous for essentially one work.  Given the work, name the composer.

A.
The Planets

ANSWER: Gustav Holst
B.
Carmina Burana
ANSWER: Carl Orff
C.
The opera Gayaneh, which features the Sabre Dance

ANSWER: Aram Khachaturian
D.
Four violin concertos collectively called "The Four Seasons"

ANSWER: Antonio Vivaldi
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